REMARER. HHE FRFOBSHRERERR

RKEMNBBEEESR
RKEFMBEREEUR
BER: TR27548A18H
XENEHE T E1mBIEED T (BfL y Sv/h)
5 P HFE(1cm) | H# E50cm HE1m

EIEEES 0.08 0.08 0.08

KILsH#E EEILEE 0.08 0.08 0.09
HFEGEIE 0.08 0.08 0.09

B0 FHE E?EEE% 0.09 0.09 0.09
EEJL A S 0.09 0.09 0.08

009 Svwh 1= 0.06 0.06 0.06
EIEEES 0.07 0.07 0.07

EHY#E EEILEE 0.08 0.09 0.09
HFEGEIE 0.08 0.07 0.08

B0 FHE E?EEE% 0.08 0.08 0.08
EEJL A S 0.08 0.08 0.08

008y Sv/h =R 0.06 0.06 0.06
BREHRR 0.09 0.09 0.09

pNIIYIN=2E sy BEILEE 0.08 0.08 0.08
BEE R 0.08 0.09 0.09

By DEHE 7§E$EE% 0.10 0.10 0.10
BEEIL Fa bR 0.08 0.08 0.08

009 Sv/h =R 0.06 0.06 0.06
BREHR 0.08 0.08 0.08

EHINFR BEILIE 0.08 0.09 0.08
] 0.08 0.08 0.08

By DEHE Jstrrg%rﬁ 0.10 0.09 0.09
B EEEA 0.08 0.08 0.09

008u Svh =R 0.06 0.06 0.06
BREHRR 0.09 0.10 0.10

RKEFEKR BEILIE 0.09 0.09 0.08
] 0.08 0.08 0.09

B D EHE J&Trzgmﬁ 0.08 0.08 0.10
B BE b 0.08 0.10 0.09

009w Sv/h T 0.05 0.05 0.06
EESR 0.09 0.10 0.11

RKEMREM EEEEIE 0.11 0.11 0.10
Bl EdE 0.09 0.09 0.10

B D EHE rrgiﬁrﬁ 0.09 0.10 0.10
Bl 0.09 0.11 0.10

010uSvh 1=k 0.06 0.06 0.06
EESR 0.09 0.09 0.09

Bt 2—<Ks |BEREEE 0.11 0.12 0.11
Bl EdE 0.10 0.11 0.11

B D EHE E FEEEFabE 0.12 0.12 0.12
Bl 0.12 0.11 0.11

0.11y Sv/h R 0.06 0.06 0.06
F—rR—ILIEA 0.08 0.08 0.08

F59 KR 0.08 0.09 0.08

WELF— 59 RILEE 0.09 0.10 0.10
559 RREE - - -

BN DTHIE g“%gw“iﬁ@ - - -
'S URALE 0.09 0.13 0.13

010 Sv/h BB 0.06 0.06 0.06
JS59 QR 0.11 0.11 0.11

HERISOUR |F59 FILER 0.10 0.11 0.12
559 R EE 0.13 0.13 0.12

B D EHE ’J‘Sgw‘ﬁﬁrﬁ 0.10 0.11 0.11
759 1L FiE 0.10 0.11 0.12

012u Svh  =Em 0.07 0.07 0.07
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